KaneHaapHbln y4ebOHbIN rpadhuk

Mec CeHT56pb OkTs6pb Hos6pb [lekabpb SAHBapb Pespanb MapTt Anpenb Mait MioHb Wionb Asrycr
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CBoAHble faHHbIe
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Kypc 5 Wroro
CeMm. 1| Cem. 2 | Becero | Cem. 3 | Cem. 4 | Bcero | Cem. 5| Cem. 6 | Bcero | Cem. 7 [ Cem. 8 | Becero | Cem. 9 | Cem. A | Bcero
TeopeTVll-lecKoe 06yl-|eHV|e 165/6|181/6 | 35 165/6|161/6 | 33 165/6|141/6| 31 165/6|181/6| 35 75/6 75/6 [1415/6
3 |3K3aMeHaUMOHHbIe Ceccum 25/6 3 55/6 | 25/6 3 55/6 | 32/6 | 34/6 7 32/6 | 34/6 7 32/6 32/6 29
Y |YuebHasa npakTuka 2 2 4 4 6
M |[pon3BoacTBEHHasa NpakTyKa 4 4 4
r MNMoaroToBka K caaye v caaya roc. 6 5 5
SK3aMeHa
K [[poao/mKnTensHOCTL KaHUKYN 7pH | 5604 | 6384 | 7aH | 5640 | 63aH | 340 | 528 | 558K | 34 | 524K [ 554H | 22 oH 22 aH | 258 gH
* HepaGque NPasAHNYHbIE AH (He 8 oH 5 aH 13aH | 84H 5 aH 13aH | 84H 5 aH 134 | 8aH 5 aH 134 | 94H 94 | 61 aH
BK/OYAs BOCKpECEHbS)
npO,EI,OJ'I)KVITeJ'IbHOCTb 154 pH | 212 gH | 366 AH | 154 aH [ 211 aH | 365 AH | 154 aH | 211 aH | 365 AaH | 154 aH | 211 aH [ 365 aH | 180 aH 180 aH
BucokocHbI roa 4 - - - -
CryoeHToB
Mpynn




